3 1+3 4 b ¢ b+c
—_—t = =— —t—=
5 5 5 a a a
E_l_2x5_1x3_£_i_10—3_l E_i_b_c_ﬂ_bc—ad
3 5 3x5 5x3 15 15 15 15 a c ac ac ac
2 1 2x1 2 b d bd
—_X—= — = — —_X—_— = —
3 5 3x5 15 a c ac
2,125 _2x5_10 b d_b c_bc
3'5 31 3xl1 3 a a d ad
2 2 2 7 10 20
= = =2 =2x— ===
1,12 .5 7 10 77
5 2 10 10 10
2§:2+§
5 5
22,1042 kof0,2), 1 121 12
5 5 5" 5 5 5 5 5 5 25



a+b_2 EXE 1 at 1 1
a a a c 11 11 1,11
a b b ¢ a b c
ﬁ ab ab+bc+ca abc
a b-a b+c ab+bc+ca
rn=1Q1] r,=3[Q] r;=5[Q] 3
r
P
r
1 r2
—ANN—o L —
Irs
Is
23 15
10 o
8[ ] 23[ ]
I
rl rz
—9 >~
r;
1
R=nr+rn, R:.l 1
7+7



electron

KO TN EFDiEh

91x 10% [ kg ]
e 160x 10°[C]

1

— = =1.0989x10%7[ ]
9.1x10%[g]

100 1 10% 1 10% 1000 107

BB BELK. B

——r}

E -, * BT
B T
-\_"‘:\—?\-.r_\_‘_\_\_:? - \‘"._. 2ot
fo R

)
1 Ll

f ‘.I . . 2

- . RBEETH 2n

|.__h||.\_ . ) | B N k=1, 2, m=3, -
] d

RN e —



charge

16x 107%[C]
123

16x 107[C]

Q[C] coulomb

Q [C] Coulomb
I [A] Ampere

[s] second[ ]

I:%[C/s]

[Al [C]

[C] A

B _sal

) .
m /|
4 Fy/ :

B A IR Do

AHEETRRE

16x 107[C]



/LS

EitgRck |

PAFDAT AT
| | ERhR
FIzL
ROICCRTPERL R

Rx |

1/21 21
1B (IO TRIBETERE S



X
X X X
+ + /
(a+b)? =a®+2ab+b? (a—b)? =a%-2ab+b?
(a+b)(a—b) =a%-b?
(x+a)(x+b) = x> + (a+b)x+ab (ax +b)(cx +d) = acx? + (ad +bc)x +bd
(a+b+c)2 =a?+b?+c?+2ab+2bc+2ca
(a+b)% =a® +3a%b +3ab? +b° (a-b)%=a®-3a’b+3ab? —b°
(a+b)@®—-ab+b?) =a®+b3 (a-b)(@®+ab+b?) =a®-pd

(x+a)(x+b)(x+c)=x3+(a+b+c)x2+(ab+bc+ca)x+abc



X-y? xoy _(Ey(x-y) (x-y) 1
x2-2xy—y? X24+xy (X=y)(X-y) Xx(x+y) x

=< |~

(a-b)*> a’-b® (a-b)a—b) (a-b)@®+ab+b?) _ (a-b)a-b) (a+b)(@®-ab+b?) a’-ab+b?

a2-b? a%+b® (a+b)a-b) (a+b)(@a?-ab+b?) (a+b)(a-b) (a—b)@®+ab+b?) a?+ab+b?

aZ —ab+b?

aZ +ab+b?

SW I SW 2

2r
2+r

R=1+2=3 r=20

R=1+

ri=1Q

R:lR'
2

SW

2r _15

1+ =
2+7r

1(2+r)+2r=15(2+r)
24+r+2r=3+15r
3r-15r=3-2

15r=1

~0.667 r=L ~0667[0]
15 15

G
20
20

2(8+r)=5(2+r)
5Q

8Q
16+2r =10+5r

16-10=5r-2r

6=3r
r=2 r=2[Q]



I+

x2 - y? (x+y)(x-Y) x+y)  (x-y)

ax? —ay® =a(x* - y?) = a(x+ y)(x- )

(2x+y)? = (x—3y)? X =2x+y Y=x-3y X2-Y2 = (X +Y)(X -Y)

Xy—-X+y-1=x(y-)+y-1=(x+1(y-2)

a% —p% = (@%)? - (0%)? = (% + b%)(@% - b%) = (a+b)(a% — ab+b?)(a—b)(a? + ab + b?)

]

aZ +2ab + b2 =(a4_rb)2
a?-b%=(a+b)(a-h)

X2 +(a+b)x+ab = (x+a)(x +b)

acx? + (ad +bc)x +bd = (ax+b)(cx +d)
a®+b% = (a+b)(a® Fab+b?)

a° +3a’b +3ab? +b° = (atb)®



2 R,R, 50[Q]

12[Q] 2 R1R2
R:
Rl RZ
—— L —
R.
1 R,-R
Riotat = R+ Ry Riotal = i i = R11+ RZZ
Rt Ry
RuR, Rl
Riotarl =Ry + Ry = 50[Q]
R
R Ry
Riotal 2 = =12[Q
total R+ R2 [ ]
R,
Rz = 50 - Rl
2
R-(G0-R) _SOR —Ry” _ o, -, 50R;—R? =50x12
R, +(50-R)) 50
R,? —50R, +600 = 0
x% + (a+b)x+ab = (x+a)(x +b) 20
R,? —50R, + 600 = (R, — 20)(R, —30) =0
(R, —20)(R, —30) =0 R, 20[Q] R, 30[Q] 2
Ry R,
R, 20[Q] R, = 50— 20 = 30[Q]
R, 30[Q] R, = 5030 = 20[Q]

0[Q]  30[Q]

30



RllRZ
25[A]

100
— =25[Q
= 299

2 RllRZ
Rl + Rz = 25[9]

RRo _uq
R1+R2
Ri+Ry
Ri-Ry, =4(R +Ry)
Ry = 25-R,
Ry(25-Ry) = 4x 25

R? —25R; +100 =0

(R —20)(R —-5) =0
R, 5[Q]1 R, 20[Q]

R, R,

R, 5[Q] R, = 25-5 = 20[Q]
R, 20[Q] R, = 25— 20 = 5[Q]

5[Q]

100[V]

2

100
=2 =40
25 [Q]

4A]



4 0 5 1

2 3 2
2
y = ax a
a a
y =5x
Y_a
X

Yy

X
-1
2 2 3 1/2

y=— a
a
a
¥ v
XY =a
a = ——
X
=
HEl (oc) Bl (oc™)
y =-2X y =2Xx+2 2y-5x=0 X =295y
2 2_1 N Y_q

y Xy X



I A] VIV RIQ]

I:VE[A] V =RIV] R:VT[Q]
R G
R G
1 1
R

Rt =R + Ry + Rg +---+ Ry[Q]

V= IRy V, = IR, Vs = IRy
R R
1
M—l T 1@]
7+7+-. +7
R Ry Rn
\Y \Y \Y
= — I =~ lg= —

Ri R2 R”
a " VW——AWWN— —VW—— p
Rl
a—W\Vv—n>
< Vv —_—

V1l —> V2 = V3

R R. Rs

Vl:VZ:V?): Rl: Rz:Rg

Ra

1.

I,

Rz

Rs




2x+1=0
2X+3y =5
X2 +4x =10
A B A+ C B C
A B A C B C
A B AC BC
A B A/C B/C C£
Xx+3=0 X—3=-4
_X_ —2x=5
8



2[u F]
[ Fl

Vab:g+g:(i+ijQ 0 -0

15[u

+Q

Fl

-Q

G

c=_“C
C1+C2

C, MFC, 15uF

15- 2
2+C2

C,

1.5 (2+Cy) = 2C,
3+15C, = 2C,
05C, =3
C, =6

ANS [uF]

ab [Q] R

ab
1 RR, 1.4Q

C.

2R
+R

Ry =14+

R= [Q]

2R
2+R

3=14+

3(2+R)=1.4(2+R) + 2R
6+3R =2.8+1.4R+2R
04R =32
R=8

Q

2Q




pC

F Q
. MF C upF Q
, MF

o
b Cl



X+y=2 ---(1
2x+y=3 ---(2)

y=2-X ...
2X+2-x=3
X+y=2 ---(1
2x+y=3 ---(2)

X+y=2 ---(1
2x+y=3 ---(2)



4x+3y =11
2X—-7y =-3

2X+y=5
x-2y=0

2(2y)+y=5
4y+y=5
y=1

y=x+1
£+ﬂ:l
5 5

X/5+2y/5=1

x=1/3, y=-1/3



R:

|
_E RitRy o (R +R,)E
Rl + R2 R1R2
R,
E 1 1Y)
RiR, Rl Ry I
E
R R, Ry E R, [Al
I, R=4Q
1 R:=2Q
. R=2Q
!
1 2[A
E=12[V]
R2 [A]

E1:6[V] R:=10 [Q ]

E=4[V] R=2[Q ]

E=2[V] R=5[Q ]

1/8[A] = 0.125[A]




a b
=ad —bc
d
o by d C
aXx+by=c |2 Do _ by —bic, y =[2Gl _ 2t -6
X +byy =c; a by | ahy —axh apby | by —ashy
a by a by

a b g
8y by Cof = (aybyCs + ashsty +a3hiCy) — (81haCy +ahiCs +azb,gy)
a3 by ¢3

xX+by+cz=d; abog
aX+hyy+cz=d, D=|a; by
agX +bay+c3z =dj ag by c5
dy by ¢ 8 d; ¢ a by dy
x—i~dbc —i~adc z—i~abd
=D %2 P2 % Y—Dzzz =D |32 P2 02
ds b3 C3 a3 d3 C3 a3 b d3
X+y+z=5
X+2y+5z2=7
2x—-3y+2z=1
X+Yy =-1
y+2z=5

3 +z =10



X+y+z=5
X+2y+5z2=7
2x—-3y+2z=1

1 1 1
D=1 2 5 =1x2x2+1x5x2+1x(-3)x1-1x2x2-1x1x2-1x(-3)x5=4+10-3-4-2+15=20
2-3

2
511
1 1 1 63
x=—-7 2 5= -{5x2x2+1x5x1+1x7x(-3) ~1x2x1-1x7x2-5x(-3) x5} = —x63= —
D 20 20
1-32
15
1 1 1 9
y=—-[1 7 5 :——~&x7x2+5x5x2+lxlxl—lx7x2—5x1x2—1x1x5}:——x36:-—
D 20 20 5
21
115
1 1 1 1
z==l 2 7|=—-{x2x1+1x7x2+5x(-3)x1-5x2x2-1x1x1-1x(-3)x7}=——x1l=—
D 20 20 20
2 -31
X+Yy =-1
y+2z=5
3 +z =10
1 10
D=0 1 2 =1x1x1+1x2x3+0x0x0-0x1x3-1x0x1-1x0x2=7
3 01
. 110 . .
Xx==" 5 1 2:7~{—1+20+0—0—5—0}:7x14:2
10 0 1
. 1 -1 0 . .
yzs.o 5 2:7~{5—6+0—0—0—20}:7x(—21):—3
3 10 1
1 niE 1
x=—:00 1 5[==-10+15+0—-(-3)-0-0}==x28=4
D 0 7 7




Lo

4Q

4v

I,

I

8Q

1A

05A 1, 05A |

l

1,

5Q

l.

15Q

3Q

148A

l, 037A I

111A

l



